EMCO SPECIALTY PRODUCTS, INC.

408 MIAMI AVE. KANSAS CITY, KS 66105 - 913-281-4555 / FAX. 913-281-4554

MODEL #22 PARTS LIST

[J PARTS LIST FOR BASIC FLOOR RACK

2 STABILIZER BAR
2 VERTICALS
2 HANGER ROD
2 SHELF
4 PLASTIC PLUGS FOR ROD ACCESS HOLES
4 #6-32 x 1/4 " BLACK ROD SET SCREWS
8 #10-24 X 1 5/8" PRHMS SCREWS
8 ACORN NUTS
8 #10X 3/4" PTHSMS SCREWS
#11 OPEN HOOK HANGERS (24 FOR A 22-3 UNIT & 32 FOR A 22-4 UNIT)

[1 BOOT RACK AND UMBRELLA HOLDER ACCESSORIES PARTS LIST

2 SHELF

8 #10 - 24 X 15/8" PRHMS SCREWS
8 ACORN NUTS

1 UNBRELLA HOLDER

2 #10 X 3/4 PTHSMS SCREWS

[J#11 BALL TOP HANGERS

TYPE OF RECEPTACLE
A
B
C




